
3) (3 pts) Short answer: Let A be a 5 x 6 matrix whose rank is k
a) What is the largest value that k can be?

;)
b) How many vectors are in a basis for the row space of A?

K
c) State why < u, v> = UIVI is not an inner product for u = (UI,U2), v = (VI, V2)
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4) (106 pts) Let B = {(I, 0, I), (0, 1, 1), (0, 0, I)} and B' = {(1, 0, 0), (1, 1,0), (1, I, I)}

Find the transition matrix from B to B'.

1\\ 0n-eA [ I
0 CJ ·-1 0l~ I 0 0

I \ aiD --7 0
I

0 CJ I I I I C) 0 j

.....~3t e, 0 0 v\ - \
ry 0 0 0

() 0 \ \

.\ \ - \ 0
'F - .-l.- \ 0

I
,


